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LESSON I HW SOLUTION [4,2]
29 . f- (X ) = ✗

2

z
t C

30
. f-Cx) = 2x + c

31
. f- Cx ) = X

}
- ✗

'

+ ✗ + c

32 . f-(X) = - cos ✗ + c

33 .

fcx ) = @
✗

+ C

34
.

f- (X) = In (X - 1) + C when ✗ > , or fcx) = In / ×- i / + c with no

restriction

on ✗

35
.
fcxl = ¥ + c l = Etc . :c =L

f-(x) = + Iz

36
.

fix ) = ÷
,
✗

-"4 f- Cx ) = ÷
,
✗

"
"
• 4 + c = ✗

"
"
+ c

- 2 = (1)
""
+ C .

'

.
C =-3

f.(x) = X
""
-3

37 . f- Tx ) = ¥2 fcx) = In / ✗ +2 / + C

3 = Iffi ) + C a:c =3

f-Cxz = 1h / ✗+2/+3 or f-a) = In (✗ + 2) +3 when ✗ > -2

0

38
,
f-(X) = X2 + x - sinx + C 3=0 to - si + C

i:( =3
f-(X) = ✗

"

+ ✗ - sin ✗ +3



LESSON 7- HW SOLUTION [6. I ]

1. fdy =/(5×4- see2x) tax

y = xs- tanx + c

2.fdy =/(secxtanx -E) dx

y = Sec ✗ - e.
✗
+ C

3. 5dg =✗ sin x - e-
✗

+ 8×3) dx

y
=
-cos✗ +e-

✗

+ 2X
"

t c

4. 1dg - E.) dx

y = In /✗ I + ¥ + c

5. fdy =/( sans +¥, )dx

y = 5
✗
+ tan

'

✗ + c

- ×

""
→ - ✗

"
'

• z + a

6. fdy =f(¥*
- ¥)dx

y
= sin

-
'

✗ - zrx + c



11 . fdy =/3 sinxdx 16 . dy = (5sec
-
x - Zrx)dx -2×1"

y
=-3 cos ✗ + c y = stanx

- ✗
"'
+ c -%✗÷

2 =-3 (1) 1- C ÷ c = 5 7 = 5 ( o) - o + c c:c =
7

+ c

y
= Stan ✗ - ✗

"-

y =-3
cos✗ +5 +7

12 ./dy =§2e×_ cos × ) tax 17.1dg =/( ¥2 + Ztln 2) dt

y = 2e×
- sin ✗ + c y = tan't + Ztt C

3 = 2 - o t c :c C
= I 3 = 0 + I + c . ! C = 2

y
= 2e×- sinxtl y

= tan't +2++2

13
. /dy # ✗b- 3×2+5)dx 18

- fd×=f(f- - ÷ + 6) dit

y
= x

>
- ✗
'
+ sx + c ✗ = In / + It f- + lot 1- c

l = l - l + 5 + c :c = -4 o = 0 + I + 6 te:c = -7

y
= ×

>
- ✗3+5×-4

✗=/nltl + ¥+6T -7

14 . /dy =/110×9+5×4-2×+4)dx 19
. /dv=f(4 secttunttettcet)dt

y = ✗
"

+ ✗
5- ✗
'
+ 4x + C

v = 4 sect + et + 3tZ+c

6 = I 1- I - I + 4 + C •

•
•
c. =L 5 = 4 (1) 1- I + of C

y
= ✗

'☐
+ ✗
s
- ✗2+4×+1 v=4sect 1- ett 3+2 .:c __ 0

is . /dy =/C- ¥2
- ¥4 + ' 2) dx 20 . dsg = 3+2- zt distribute

y = txt ¥+12k
+ c

3 = I + I + iz + c.: c= -11
Ids =§3tZ_ 2£)dt
S = 1- 3- t 't c

Y = ¥
1- 1×3 +12×-11

0 = l - l t C
.
:c =o

5=+3-+2


